PO HODNE

Na podstawie definicji, znalezé pochodng funkcji w zadanym punkcie:

1.y =2%+1w pkt. 2o 2. y=/2 wpkt. zg >0

3. y =sin2z w pkt. zg 4. y=Inx wpkt. g > 0
Obliczyé:

5.y'(1) dlay = 32® + 222 + 1 6.y (-2)dlay=1+2

7.y (-2)dlay = 4arctgz 8. y'(%) dla y = arcsin \/z

Obliczy¢ y' nizej podanych funkcji:

1 1 1
9.y =3z° - _22 - 10. y = 2Yz+ —
y=3z" = sxtt 24— 0.y=10+ \/54—\/1_'
2
11. y = 2arctgz + =« 12. y= =
x—1
13. y=g(z? +1) 14. y = (az + b)®
1
15. y = (z3 + 2z + 1)* 1B o
SIS 21 Y=z 1y
17. y=+vz2 +4 18. y=+v3z+1
19.y =Bz +2)V1-2z 20. y =z> - In(2 — z2?)
2l.y =€ 4 5e 22.y=zhhz -z
23. y=(z>+1)e = 24. y=In(z + V1 + z2)
1
25.y=zln’z - 2zlnz 4 2z 26. y = arctgz — a.rcctg;
1 1
27. y = zarctgr — 3 In(1 + z?) 28.y = -;-z\/l —x2 4+ 5 arcsin
1
29.y = arctgs 2 30. y = cos(4zx) — 2sin§ + 3tgz
31.y=1:3$in:1: 32,y=&
1-—sinz
33. y =cos’z 34. y = cos(2z) + 2sin’z
35. y = 3sin’z — sin® 36.y = —i
y =3sin“z —sin’ z ] oy e
37. y = sin® zsin z? 38. y =zarcsinz
39. y = (arcsinz)? 40. y = zsinz arctgz
41. y = I _:_E 5 — arctgz 42. y = (arccosz + arcsinz)'%°
z
43.y=Inz 44. y=zlogz
00
45.y=zsinzlnz 46.y=z'C%Inzx
1 48. y = l1-Inz
47.y=ln<arctg1+x) 'y_1+ln:c
49. y = z107 50. y =e"cosz
51. y = ze*(cosz + sinz) 52. y =sin2”
3
53. y = arcsin(sin z) 54. y = /24T
55.y = sin(ezz+31_2) 56. y = sinz(cos 3z)
T
57.y= gl 58.y=:z:“”2
T
59. y = %" % 60. y = (Inz)*

61. y = (arctgz)” 62.y=z"




Odpowiedzi
1. 2x9
3. 2cos2xp
5.9(1)=5
7.¥'(-2) =3
9.y =15z —z+1— 5
1.y = i35
13. y/ = 625 + 4z°
15. y' = 4(23 + 2z + 1)3(322 + 2)

=
17.y' = z2+4
_ —9z+44
19. ¢ = 34
21. y' = 3e3% — 5¢~*

23.y =2(-z2+z—1)e >
25.y =In’z

27. y' = arctgzx

29.y' = H—lxy

31.y = 3z2sinz + 23 cosz
33. y' = —sin(2x)

35. y' = 3sin(2z)(2 — sinz)

37. ¢y = 2sinz(zsinzcosz? + cos xsinz?)

38. y' = arcsinz + 7%-?_;

40. ¥’ = sinz arctgz + T cos T arctgr +

= _—2z?
ALY = gy

43. yl — 3In%z

T

45. y' = (sinz + zcosz)Inz + sinz

4a7.y' = — 1
Y (z7+2z+2)arctg 1o

49. y' = 10*(1 + zIn 10)

51. y' = e*(cosz + sin + 2z cos z)

53. yl — _coszx

coszx

55. y' = (2z + 3)e¥ +37-2 cos(e’1+3z“2)

56. y' = —3sin(3z) sin(2 cos 3z)

58.y' =z= +1(2Inz + 1)
60. y' = (Inz)* (X + Inlnz)

61. 4/ = (arctge)” [In(arctgz) + (rrsvfimegs |

Y - 2 2 1
62.y' =27 z* (In”z + Inz + 1)
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V(i) =5
y[ - §$_§ — %x_g
2
V' =-
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' = Tz
= 3
y 14{/(3z+1)3
2
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¥y =Inz
o 1
g = z441
y =0
yl = /1 — IZ
< 1
y' = —4sin(4z) —cos 3 +3 577
y’ = T=sinz
¥y =0
R F
/ _ 2arcsinz
vy= 1—z
¥=0
/ _ Inz+1
¥ = Tnio
Yy =2z%(100Inz + 1)
) S 2
y= z(1+Inz)2
Yy = e*(cosz — sinz)
y' = 2%In2cos2*
y'=3vz
- 1)\% | 1 1
=T (el )
? si
Y =z""7 (cosz Ing + s2Z)




